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5.34 % (=3) + 5.34 X (=T7)
=5.34x {(-3) + (-7)}
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@ (-2.3) + (+1.1) = -1.2
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@ (-1.8) + (—%) +(-0.8) =-3.9
o () (D) (D)4




11. a o Z5zko] 3013, b o] Aehgto] 5 L uf, a+b o] Fo] 5
%% 7V 2 48 Fotole

cCh -
="

>
> =g +8

B

a=3,a=-3,b=5,b=-5
a+b=3+5=8
at+b=-3+5=2
aERDEBER (SEIE=2
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@ (=5) + 6= (=7) = (=5) + 6 + (+7)
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~a=6

(i) 74+ b+ (-3) =12
b+7+(-3) =12

b+4=12

L b=38

wtA] g x b = 6 x 8 = 48 ©|t}.
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A | 2|3l | g
13| +4 | @ | +7 | =5
23| © | +2 | -4 | ©
38| -3 | 43 | -2 | +2
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A = (-15) + 62 + (-3)
= (-15) + 36+(-3)
= (-15) + (-12) = -27
B =4 x (—6)+(=23)
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